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NB: l. Question no.1 is compulsory.
2. Answer any three out of the remaining questions.
3. Assume data. if missing, with justification.

Intelligence

Q.2.(a) Explain DBSCAN clustering algorithrn with an,examgle ,,,, [10]
,(b) Explain Regression. Explain hnear regression with example, , . 

, t10l

Q.3.(a) Suppose we have five objects with name A, B, C, D and E. Apply single linkage clustering ll0l
and draw dend for the siven data

(b) What is an outlier?..Describe inethods that are used frr outlier analysis. [101

Q4.(a) Uqing thegiven training dalqset clasffi the foll-owing tuple using NaiVe Bayes Algorithm: [10]
<I{omb.owner: No, Marital'Staars ; Marri ed, Job experience: 3>

I{omeowner Mafital'Status ,'Job expbrience (in years) Defaulted
Yes Single a

J No
No Married A--r h{o

No Single 5 Nc
Yes Marrieo. 4 Nio

No Divorced 2 Yes
hJo Marrieri 4 No
Yes: Divorced ? Irlo

Ir.lo Married 3 Yes
No Marribd aJ No
Yes Single 2 Yes

Oale,* 5 lra lri
[Total Marks:80J

Q.l.(a) Describe different types of attributes with example.

(b) Explain KDD process with diagram.

(c) Define and explain: i) Support ii) Confidence iii) Information Gain iv) Entropy v) Gini
index . ,

(d) Apply K-means Algorithm to divide the given set,of values,{2,,3,6,8,9.i2,15,18,22} into 3

clusters.
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(b) W"hat are multiple level and multidimensional association rules? Explain with suitable tlgf
examples for each. , -

Q5. (a) Explain Business Intelligence issues

(b) Explain Market-Basket analysis rvith example.

IlOI

[101

Q6. (a) What is data visualization? Explain any 3 visuaLizat-ion techniques with example. t10l

(b) Suppose that data for analysis includes the attribute age. The age values for data tuples are tl0J
(in increasing order):

13,15.16,16,1g,20,20,21,22,22,25,25.25.25,30.33.33,35.35,35,35,-r6,40,45.46.52,70

ii) What is mode of data? Comment on-data's moOaity .,

iv)Give the fir,e- point summary of the:dar'. r: ''' 
l

v) Show box plot of the data.
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